
10𝑛 10−𝑛

𝐴 = 104 × 107               𝐵 =
10−4

105
                 𝐶 = (102)−6              𝐷 = 10−4 × (103)−1      

𝐴 = 4 × 7 × 10−5 × 10−8          𝐵 =
7 × 10−4 × 5 × 108

56 × 10−9
           𝐶 =

32 × 10−4 + 6 × 10−3

2 × 10−5

𝑏) 𝐴 = 4 × 7 × 10−5 × 10−8          𝐵 =
7 × 10−4 × 5 × 108

56 × 10−9
           𝐶 =

32 × 10−4 + 6 × 10−3

2 × 10−5

          = 28 × 10−5−8                              =
7 × 5

56
×

10−4 × 108

10−9
              =  

0,0032 + 0,006

2 × 10−5

          = 28 × 10−13                                =  0,625 ×
104

10−9
                         =  

0,0092

2 × 10−5

          = 2,8 × 10−12                               =  0,625 × 1013                           =
0,0092

2
×

1

10−5

                                                                    =  6,25 × 1012                              =  0,0046 × 105

                                                                                                                               =  4,6 × 102 

 

𝐴 = 104 × 107 

    = 104+7 

     = 1011 

 

𝐵 =
10−4

105
 

    = 10−4−5 

     = 10−9 

 

𝐶 = (102)−6 

    = 102×(−6) 

     = 10−12 

 

𝐷 = 10−4 × (103)−1 

    = 10−4 × 103×(−1) 

    = 10−4 × 10−3 

    = 10−4−3 

    = 10−7 

 
 
 

     = 10−12 
 


